- (Green)
3 8, 2¢ 4 MnO, + 2H,0
(Purple)

¢ —HLEL 544 JKOH + D

In the above sequence of reactions, A and ), respectively, are
(2019 Main, 11 Jan 11}

{a) Kland KMnO), ib) MnO, and K10,

ic) Kl and K MnO, id) KIO, and Mn(,

When Mo, 4) is fused with alkali in presence of air then
potassium manganate (8) is formed. Potassium manganate ( &)
is of green colour which disproportionate in a newtral or acidic
solution to produce potassium permanganate (C). Potassium
permanganate (C) in presence of acidic medium oxidises iodide
o iodate.

The reaction can be shown as:
o

+4 4 KOH, 0y +6 -2 -2
(i) 2MnQ, ——— ZK,Mn0; + ZHD
() A L
tA=sILIm mgmﬂtc
{Gireen)

o aHC o i
(ii) 3K,Mn0, “HEL, Sk MnO, + MnO, + 2H,0 + 4KCI

(B) L]

Potassium

E.B.I'ﬂtc
}P“TPlﬂ
=0
+7 K 1,H:D +4 +i
(iii) 2K MnO, i 2Mn0, + 2KOH + K10,

<) iA) (o

Thus. 4 and 7 are Mn 0. and KT, respectivelv.



